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MULTIPLE CHOICE. Choose the one alternative that best completes the statement or answers the question.

Solve the problem,
1) The formula 1

A—zTHQH
T 2T+ 0Q

gives a student's average A after T tests and Q quizzes, where each test counts as 2 quizzes, t is the
test average and q is the quiz average. Solve for T.

~Rg-4 _2At+QA-Qq
AT 2A-2t BT 2t
o r=1-GA D)7 =21 2-04

For the function represented in the graph, determine the domain or range, as requested.
2} Find the range. 2)

A) {X' —5 —=X= 3‘ B) {"3; _21 -11 Or 1; 2.! 3.0 41 5}
Q) {x| =5 = x =5} D) {yl-3sy =5}
Choose the ordered pair which is a solution of the inequality.
3) 2x-4y<b 3)
A} (3, =1) B) (2, -2) O (-1,1) D) (0. -2}
4) 2x + 4y =8 4)
AT B) (3, 2) C)(0,0) D) (1,0
Find the Function value,
5) Find f(a - 4) when f(x) = x2 + 4. 5)
A)a? - 8a+16 B)aZ +0 a2 +16 D) a - Ba + 20
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For the function represented in the graph, determine the domain or range, as requested.
6) Find the domain. f)

.5 Y.

A) [-5,-4,-3,=2,-1,0,1,2, 3} B) x| -4 s x =4}
Ol x| -3=x=3} D){-4,-3-2,-1,0,1,23)
Classify as equivalent inequalities, equivalent equations, equivalent expressions, or not equivalent.
5 1
7)-1-g+“1-=0,55+1=0 7
A) Not equivalent 1) Equivalent expressions
C) Equivalent inequalities D) Equivalent equations

Solve the equation.

8) Let f(x) = | 2X23

. Find all x for which f(x) = 7. 8)

A) & B) {lf , %} o) {:_215_ %} D) {%ﬁ %‘-} 'ﬁ“‘

Graph and write in interval notation.
N x<dorx<? 9

J—
—————

PN T T N T
b ¥

LI D ‘-é
5-4-3-2-101234567 829

b
-

A) (—w,7) B) (4,7)
e L
=3=4-3-2-1012 345567 8¢9 5-4-3-2-1012 34566789
C) (47 m) D) ("mp 4) ¥ (71 m)
et ——(———— S A . B e o
-54-3-2-10123 45467829 ‘—5—4—3w2-10123456789
2
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Provide an appropriate response.

10) Determine whether the slope is positive, negative, zero or undefined.

A) Positive B} Zero C) Undefined

Solve the inequality and graph the solution set.
11) 13=2x + 7 and 6x — 2 < 40

3 i a3
T T 7

"7 6.5 4-3-2-101 2346567

e} uma
3

-+ jmji--
A) 72 -6-54-3-2-101 2 4 5 6 7

b e ———— >
By 76-5-4-3-2-10 123456867

H—t—t—t——t—————helei——}-
ol C) =7 =6 =5 =4 =3-2-101 2 3 45 6 7

et
D) 7 46-54-3-2-101223 45487

Determine whether the graph is the graph of a function.
12)

A) Yes B) No
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10)

D) Negative

11)

12)

e R * T ——— .y
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Graph on a plane,

13)

13) “7xx=6
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Graph the system of linear inequalities.
14) 2x+ye2dandx-1=0

E 3

-4 -3 =2 -1 1 2 3 4 x
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Craph the system of inequalities. Find the coordinates of the vertices,
15) 3y =x =9,
y + 2x < 10,
yz0

-10-66-4-21 2 4 6 8 =

4
-0
)
-10
A} B)
0%y
g
f
4

7\

~10-8 -6 =4 =2,1 X 4% & X

-4
-6
-6
-10

(0,10}, (3, 4), (5,0)
o) D)

w10 2B u6 =d u2

(31 4) (_9; 0) r (51 0)
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